I am having trouble with the two following questions: 

13. Researchers found a correlation of 0.74 between sex (male, female) and education (high school, undergraduate, graduate). What of the following statments is correct? 

a. more males continue to graduate studies 

b. more females continue to graduate studies 

c. it is not appropriate to calculate a correlation coefficient for these data 

d. the correlation of 0.74 is suspect because we expected a negative relationship 
 

14. A correlation analysis was performed between two variables (A and B) using non-directional hypotheses. We find Pearson’s r of 0.78. At 
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; we infer there is a significant correlation between A and B 

b. We cannot reject [image: image2.png]Ha



; we infer there is no positive correlation between A and B. 
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; we infer there is a significant positive correlation between A and B. 
d. We reject [image: image4.png]Ha



; we infer the difference between the variables is greater than 0. 
Please help!!!

